In class, we solved the equation 


Then, we checked our answer by  

-3x + 6 = 42 by showing the following steps:   
plugging in x = -12 into the equation.
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 Solve the following equations by showing all of the steps.  Then, check your answer.

1)  4n + 3 = 7


2)  2x – 7 = 9



3)  3t + 5 = 2

4)  –16 = 6a – 4

5)  
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8)  –20 = -t + 10


9)  
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10)  3.5x – 14.25 = 23

11)  -33 – 3p = -6


12)  
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-3x  =  36
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-3x + 6 =  42





-3(-12) + 6 = 42
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x  =   -12
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